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M-ESC-U-ENM

ECONOMICS (PAPER-])

Time Allowed : Three Hours Maximum Marks : 250

QUESTION PAPER SPECIFIC INSTRUCTIONS
(Please read each of the following instructions carefully before attempting questions)

There are EIGHT questions divided in two Sections and printed both in HINDI and
in ENGLISH.

Candidate has to attempt FIVE questions in all.

Question Nos. 1 and 5 are compulsory and out of the remaining, THREE are to be attempted
choosing at least ONE question from each Section.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must
be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space
provided. No marks will be given for answers written in medium other than the authorized
one.

Word limit in questions, wherever specified, should be adhered to.

Graphs/illustrations, wherever required, may be drawn/given in the space provided for
answering the question itself.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a
question shall be counted even if attempted partly. Any page or portion of the page left blank
in the Question-cum-Answer Booklet must be clearly struck off.
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WUs—A / SECTION—A

1. Fefafag 3 ¥ y8® T4 H SW AT 150 Y8l 7 N

Answer the following questions in about 150 words each :

(a) ISR Fger ol uiRld b dreitd Y fRear g w AR | @ e wEe § T Al g
oftfa fRrar 1 fRufd seavaes w9 A Teww 6 fera @it 1 ghfta s @ o) 6 foda

ferfa # oft Yo & S ®7 =@ Fifsg)

State Marshallian and Walrasian stability condition of market equilibrium. Do
you think that existence of Marshallian stability necessarily ensures Walrasian

stability and vice versa? Explain.

(b) = i g Fa R F FE i)
State Bain’s limit price theory.

(c) Yart & weEa ¥ fwa 6t 9% REd = we A
Explain kinked demand curve theory with the help of diagram.

10x5=50

(d) FERR AGo THo 3R FLATR Telo THo Thi % TeRhNE 3R Hiser Ffeared =0 2 &7
What are the fiscal and monetary implications of vertical IS and vertical LM

curves?

(e) Tommon F wieeR T Hoeh AR w1 whgw i)
Examine Kaldor and Kalecki theory of distribution.

2. (@) ‘74 wfyen wniE-sdwE % A 3 it R wh s 9% geEredl 6 fRld w5

glarem = & &) == hifsg

“The advent of New Classical Macro-economics has tended to upset the apple-
cart of Keynesian and to a great extent, that of the Monetarists.” Discuss.

(b) Tosmd gfaen o S wmmEEen w fafau)

Write on Prisoners’ dilemma and Nash equilibrium.

(c) Fz1 = i R F el % QiR 1 wikm quia hifse qun aefenl afEmn REd |

THeh] AT/ TEIHAT Sdigl |

Discuss in brief Friedman’s restatement of the quantity theory of money and

find its similarity/difference with the classical quantity theory.

3. (a) wemm-Hafta R 9% % GEER @ T9-hEE SurH § R R

Distinguish between Monetarist

and Neo-Keynesian

expectation-augmented Phillips curve.

approaches

to

20

15

15

20
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(b) N MIRG S IR §8 ISR AdaEdl § gREHIT W YRR HE S il fif w5 ge
%1 g1 =1fee? Faw e enfdE wafe | sok gl i swizy)

Should inflation targeting be main plank of monetary policy of a central bank
in emerging market economies like India? Show its implications on investment
and growth. 15

(c) THA SR ¥ 1 qad 87 THH Hohad IR DA bl 9T SRRT 77 AHERT
What is a Lemon Market? What is the role of signalling and screening in it?
Explain. 15

4. (a) e GEA R AN 27 98 FFE weEr ufed TR v aER srewerar it fedfa Scaw S weRdt
37 T hifvm)

What is asymmetric information? How could 1t lead to adverse selection and
market failure? Discuss. 20

(b) WIHfGH GETEE &7 % g A AfeeR wfeufs A sm@umon f =ren Hifsg)

Illustrate the notion of perverse subsidy in the context of natural resource
sector. 15

(c) THel srdcaamen & fow@ WA H A 09 % Y§TEl 61 &0 i)

Examine the effects of public expenditure on the development process of an
economy. : 15

@Wuvs—B / SECTION—B

5. frefafas & & I® T H IW @ 150 veE § 9T
Answer the following questions in about 150 words each : 10x5=50

(@) H=R-ILANT TH ATANH-IA 6 o= fade g F:a1 are dovR-3Alfor Jisd ATINH-3em
6 AT T THA /7 <= IS

Differentiate between inter-industry and Intra-industry trade. Can standard
H-O model explain intra-industry trade? Discuss.

(b) TaRsht youer FRw 6 sfm i Ghaqar B i s i)
Explain Dunning’s eclectic theory of FDI.

(c) ST ST9R & SEl-310 & A=INeH-3e Aled ! AR wHifIg |
Explain Brander-Krugman model of intra-industry trade in an oligopolistic
market.

(d) FoZE h Fwitd g el ) HwEy ) F wgie e % Ty fede Bt &7 samu)

Explain Kuznets’ inverted ‘U’ hypothesis. Is growth good for the poor? Explain.
(e) T gt & e wafe, s wafe A 9 o It 87 fod=mn i)

Under what conditions economic growth reduces employment growth?
Discuss.-
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6. (aj

(b)

(c)

(b)

()

(b)

(c)

@%%wwﬁmﬁﬁﬁm,ﬁﬁaﬁa&wm@wmwéﬁmwﬁeﬁmm
99 % YRS Hod Hid Aih IUERT 1 IR TR OIW el B

Describe the growth path, which once the economy attains it, will give a higher
level of per capita consumption than any other growth path for all time.

“YSfigH & A AR e T wed & anataes Aeel R d wH ofR ESh % At
fdthel H iy FTE1 R | AAIHN A= TR S AR Aol @ A 9iE At gef
gfiee # &t A 1 HHms

“Technical progress in capital-intensive sector almost invariably reduces the
real wage rate and increases the real return to capital. Technical progress in
labour-intensive sector will lead to increase in real wage rate and decrease in
the real return to capital.” Explain.

o Tkl refegasan # wfebife & g2 W fova =R @en # w0 iy 27 e it

What is’ the stalemate in the WTO about subsidies in less-developed
economies? Discuss.

"8 e Toh B Wl @ o6 Fata-erfima wafs Sm % =R vl S wfse 2 or6: 3w % fg
fee 7€ &, 98 I % wed ® A 6 SR Wi & el #, @ dan R) wE A

“The argument that export-biased growth may turn the terms of trade
unfavourable to the country and hence may not be beneficial, is applicable in
the case of a large country and not a small country.” Explain.

S -@Wﬁm%%@aﬁm&w%w%ﬁﬁwﬁmﬁaﬁﬁmww
Hger b =k WY-w gRehf] @ Ss &6 6 ged § Hifva game AR
With the help of Salter-Swan diagram, define the zones of disequilibrium and

assign policy prescriptions for the situations pertaining to unemployment and
inflation vis-a-vis BOP deficit.

Heqfaehrd il & TR 8g ARa=EH & =Had s 5o e 1 fHe=m Hifvm)

To counteract under-development stagnation, discuss Leibenstein’s critical
minimum effort theory.

WIAH-Hger SHIENH & oIl 3R Sauiyvr 3qrm 1 87 foe=m hifvm)
What are the elasticity and absorption approaches to BOP adjustment?
Discuss.

V- HTE SUREAT HN T (Fen) ¥ i ey (Sguv-med) ¥ fan sreferawen
(Tereset) <l HIAT q YR 81 STl @ 56 ST Aindl <l el 3™ a1 SIHT-ER 37
H YH:9g90 ! el o a1 99 s &1 s i

“Pollution-income progression of agrarian communities (clean) to industrial
economies (pollution intensive) to service economies (cleaner) would appear to

be false if pollution increases again at the end due to higher levels of income
and consumption of the people at large.” Discuss.

wIE ¥ i feE wied # R B T w w AR

Indicate the Ricardo legacy which is inherent in the Lewis model of economic
development.

b & &

20

1S

15

20

20

10

20

15

15
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